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1
Decision/action requested

This contribution proposes solution evaluation for solution#17 to be captured in TR 33.809.
2
Rationale

Changing the ResumeMAC-I/ShortMAC-I calculation introduces backward compatibility issue and does not address the key issue #1 completely. 

3
Proposed pCR
********************Start of Changes***************************

6.17.3
Evaluation 

1. This solution has impact on the UE, source gNB and target gNB and also in the interfaces as there is need for special capability exchange between the entities to work.
2. If the target gNBs (Rel-15/Rel-16) capability is not inline with the UE and the source gNB, the UE and the source gNB will not be aware of the capability of the target gNB. Therefore, the new ResumeMAC-I/ShortResumeMAC-I verification can not be used, and the legacy version MAC-I will be used. 
3. merged into the existing EN) 
4. 

5. 

6. 

7. 

8. Does not address all the scenario, for example:

· When the gNB is congested and the UE sends ResumeRequest with Resume cause as “emergency” and the ShortMAC-I

· Attacker changes the Resume cause from “emergency” to “RNAU” and does not modify the ShortMAC-I (knowing that gNB is congested)

· 

· 

*********************End of Changes**************************

�It should be added when the 2448 is adopted. since the current version of solution#17 doesn't have so many details. can we add them later? 


�1.SIB0 is not correct. 


2.We are still working on the SIB signing now, so it is too early to say the broadcast messages are unprotected.  


�if it was not used for security, then it can be if SA3 has such a requirment. 


�In both error case, the resumerequest will fail. Maybe we can add some EN in the solution to address this issue? 


�If gNB doesn't check, then there is no way to fix. but what is the reason that gNB rejects? The congestion case is mentioned above already. 


�In the 4th bullet, what is the wait time mentioned here? 








